Relay—type Terminal Block

E s F . Pitch 10mm

1]
T%e Numﬁr F1 003_20A_PCA
TSN s =2 omrn T 1 pres
DA N—FFHE | € T AC250V 20 A
| |
| A +15 | EEIER DC500V  1000MQ LA E
! ! Tusulation Resistance| DC500V 1000MQ and over
! 5 B =12 4-R2 | it & E AC3000V 143FELLE
0.5 | /0 | Withstands Voltage | AC3000V 1minute and over
| , | RLRE
! CD ! Screw Diar:nl-:ater M3
N = ol © BAEES 2
—| N T — N ! Compa‘lc:ileIEe'%V;\liire 2. Omm
I /| ) | JERERET R2—3
i // i ecummended Crimp Terminal
6 — % /N E . General Tolerance £0.5
b . |RJ’3="'Z/ScaIe‘/1 B /Unitmm

© @

o on
B D ==
Dol ol

- / = 5 @
@ O) ©) BER C-C

[
G

il
—
| B
—
i
8.7

15
-
@o
Of

®

CEESCHE A ] P
+ Ordering Form:Type No. No.of Poles(P)
CFERRE R FEfHIT R L2 0. 6N-m. faim)

* Connection screw:Tightening torque is 0.6N-m. = = = . = = =)

S ZOMAT 3 kv a— b E—R(F2121, F2122) l/ o= /|

- Other options *Jumper (F2121, F2122) r/'— A " WA~ VA VA — AV VA ==

W {t#k.Specifications. 1 7 = i = e . s i i i =V

0 /Part No. % /Part No M. Material ##E,Standard | <Hi&/Size JLIB/Treatment {5 /Remark (B a
1 FESE T Intermediate base PBT UL94V-0 H 4 Black
2 i+ A End base A PBT UL94V-0 H {4 Black v
3 W% F B End base B PBT UL94V-0 B 4 Black H:ﬁ E D D
4 HEAH Terminal g Brass C2680R WOE t1.0 =yl My % Nickel-Plated
5 fEfR e 2 Screw E7S Steel SWCH + SPCC | M3X0.5X80 | =w/lAvy%  NickelPlated TI=3UVER Type@
6 FLBHML  Marking strip| #)#—#%—} Polycarbonate |  UL94V-2 W t1.0 F 4 White 345 /Poles 1P 2P 3p 4P 5P 6P 7P 8P 9p 10P
7 T oR— Cover HYA—F%—F Polycarbonate UL94V-0 W OE t1.0 % W] Transparence A 28 38 48 58 68 78 88 08 108 118
8 J1/8— 1k B A Cover Retaing scren ki Brass C2700W M3X0.5X60 =y VAy*  Nickel-Plated Pz AAF R Type® B 18 28 38 48 58 68 78 88 08 108
9 RNfAF > b Hexagon nut & Steel SWCH M3 0.5 Sy mA=b Tt Chronete Treament
10 SR /L I Connecting bolt £7S Steel SWCH M3 X 0. 5 SHPRA=F Tilent hromste Tretment F g/ Poles 11P 12P 13P 14P 15P 16P 17P 18P 19P 20P
11 ML » b Connecting nut % Steel swen M3X0. 5 ZfpmA=b Tkt hronae Tresmen A 128 138 148 158 168 178 188 198 | 208 | 218
12 JNFJEA: Spring washer £7S Steel SWRH M3 % 0. 5 SHpRA=F Tilent hronste Trotment B 118 128 138 148 158 168 178 188 198 208




